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public class WeatherStation {
public static void main(String[] args) {
WeatherData wd = new WeatherData (9, 75, 25);
CurrentConditions (cc new CurrentConditions();
System.out.println("

wd.setMeasurements (15, 60, 30.4);

cc.display(); :'
System.out.println("=======");

wd. setMeasurements (11, 90, 20);

cc.display();
} o}

public class CurrentConditions {
private double temperature; private double humidity;
public void updateTemperature (double t) { temperature
public void updateHumidity(double h) { humidity = h; }
public CurrentConditions() {
MethodHandles.Lookup lookup
try f{
MethodHandle ut
this.getClass (),
MethodType.methodType (void.class,
WeatherData.changeOnTemperature {subscribe (this,
MethodHandle uh lookup. findVirtual (
this.getClass (), "updateHumidity",
MethodType.methodType (void.class,
WeatherData.changeOnHumidity (subscribe (this,
} catch (Exception e) { e.printStackTrace(); }
}
public void display()
System.out.println("Temperature: " + temperature);
System.out.println("Humidity: " + humidity); } }

t;

MethodHandles.lookup();

lookup. findVirtual (
"updateTemperature",
double.class));
ut);

double.class));
uh) ;

}

public class Event {
Hashtable<Object, MethodHandle> listenersActions;
Event () { listenersActions new Hashtable<>(); }
void (subscribe (Object listener, MethodHandle action) {
listenersActions.put( listener , action);
}
void (publish (Object arg) {
for (Object listener : listenersActions.keySet()) {
MethodHandle action listenersActions.get (listener);
try {
action .invokeWithArguments( listener ,
} catch (Throwable e) { }

arg) ;

}

public class WeatherData {
private double temperature;
private double pressure;
private double humidity;

public WeatherData(double t, double p, double h) {
setMeasurements(t, h, p);

}

public static Event (changeOnTemperature = new Event();

public static Event (changeOnHumidity = new Event();

public static Event changeOnPressure = new Event();

public void setMeasurements (double t, double h, double p)

temperature
humidity = h;

pressure = p;

t;

changeOnTemperature .
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class\ WEATHER STATIO%atf make I
feature
cc: CURRENT_CONDITIONS J:F:F/r@
make
do create make (9, 75, 25)

~> create (ccl. make (wd)
—?y_c_l.set.measurements (}_5, iO,

30.4) ' feature
20)

class CURRENT_CONDITIONS
create make

fea —-— Initialization
make (wd: WEATHER DATA) *
do
wd.change_onX
wd. change on_ t:empei.jf-aﬂ:e

end M-'r \’y

(agent update_ temperature)
(agent update_humidity)

cc.display temperature: REAL
wd. set_measurements (11, 90, humidit
cc.display —+=fupdate_tem f— do temperature := t end
end ,? update_humidity : do humidity := h end
display do ... end
end i
—
class\m@éjHER_DA{é)
create make
clas EVEN, [ARGUMENT —-> TUPLE ] feature - Measurements
create m U Bﬁ _tmf"* "Nt ~Ptemperature: REAL shumidity: REAL sgppressure: REAL
feature —— Imualuauon correct_limitq(t,p,h: REAL): BOOLEAN do ... end [,EE
actions: LINKED_LIST [PROCEDURE [ARGUMENTS] ] make (t, p, h: REAL) do ... end aryg 7(”
feature -- Event for data changes

make do create actions.make end
feature

subscribe (an_action: PROCEDURE [ARGUMENTS])

require action_not_already_subscribed: not actions.h(l‘

reate Result end

: EVENT[TUPLE [REAL] Jonce create Result end
—

—->change_on_pressure : EVENT[TUPLE [REAL] Jonce create Result end

do actions.extend (an_action) feature Command
ensure action_subscribed: action.has(an_action) end set_measurements (t, p, h: REAL)
publish (args: G) t require correct_limits(t,p,h)
| 77 do from actions.start until actions.after m do temperature := t ; press# . .= K
loop actions.item.call (args) ; actions.forth end ,ﬂlf gchange on._temperature/publish fj‘
end
end 4 change-on-humidity (.publish M

¥ . change_on_pressure

end
invariant correct_limits(temperature, pressure, huml it end
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class FOO
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class FOO
1: INTEGER
increment_by_ 9
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ensure
1€ (1)>) 13
end
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